Some Values For Solubility Product

Constants (K,,) At 25 °C

TABLE 161 Some Solubility Product Constants at 25 °C

Solute Solubility Equilibrium K,

Aluminum hydroxide Al(OH);(s) == Al' (aq) + 3 OH (aq) 1.3 x 10%
Barium carbonate BaCO,(s) == Ba’"(aq) + CO,*"(aq) 5.1:% 10°°
Barium sulfate BaSO,(s) = Ba’"(aq) + SO, (aq) L.12% 1072
Calcium carbonate CaCO;(s) == Ca’'(aq) + CO;* (aq) 28 X 10°
Calcium fluoride CaF,(s) == Ca**(aq) + 2 F (aq) 53 % 10
Calcium sulfate CaSO,(s) = Ca**(aq) + SO.,” (aq) 9.1 10°°
Calcium oxalate CaC,04(s) = Ca**(aq) + C,0,° (aq) 27:% 107°
Chromium(I1I) hydroxide ~ Cr(OH);(s) == Cr**(aq) + 3 OH (aq) 6:3 % 107
Copper(Il) sulfide CuS(s) = Cu**(aq) + S$* (aq) 8.7 X 107°¢
[ron(I1T) hydroxide Fe(OH)s(s) == Fe''(aq) + 3 OH (aq) 4% 107%
[ead(IT) chloride PbCl,(s) == Pb**(aq) + 2 Cl (aq) 1.6 X 107°
Lead(Il) chromate PbCrO,(s) = Pb**(aq) + CrO,’ (aq) 2.8°% 10°°
Lead(I1) iodide Pbl,(s) == Pb*'(aq) + 21 (aq) 7.1 X 107*
Magnesium carbonate MgCO,(s) == Mg?*(aq) + CO,* (aq) 35% 10"
Magnesium fluoride MgF,(s) == Mg*"(aq) + 2F (aq) 37 X 1077
Magnesium hydroxide Mg(OH),(s) == Mg*'(aq) + 2 OH (aq) | 8°% 107"
Magnesium phosphate Mg;(PO,),(s) == 3 Mg*"(aq) + 2 PO, "(aq) 1 5% 10°®
Mercury(1) chloride Hg,CL(s) == Hg,”*(aq) + 2 CI"(aq) 1.3 % 107"
Mercury(I1) sulfide HgS(s) == Hg*'(aq) + S? (aq) 2K 10"
Silver bromide AgBr(s) = Ag'(aq) + Br (aq) 50x 107"
Silver chloride AgCl(s) = Ag'(aq) + Cl (aq) 1.8 X 107"
Silver iodide Agl(s) = Ag'(aq) + I (aq) 85 X% 107"



